EM 9H Assessment Test
Test 2
Answers

a) = b)
7.62

£9,600

a)4.25cm  b)12.56 cm

a) 200 x 30 = 6000 b) 5964
223.6 km

0.31m
Yes, 7% of 260 million = 18.2 million and 6000 X 3000 = 18 million.
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a) Enlargement, with scale factor of 3,
centre of enlargement at point (8,-6)
i EEe 5% b) Reflectionintheliney = 1.
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5 c) Alis mapped to A4 by the
. . . _9
w _5 translation with vector( 0 )
s
-8
10.x=1, y=—-4
11. £65.00
12.3.84 cm
13.a) 496 b) 5n — 4
14. One worked example: 68°+3(x+7) +4x = 180°
4x +3x+21 = 180°—68°
7x = 112°-21
91
x —
7
x = 13
With x = 13, 3(x + 7) = 60 and 4x = 52, so the largest angle in the triangle is 68°.
15.8.7 cm
16.27.6 cm

17. b) Hex — 9 Diagonals, Sept — 14 Diagonals c) 27 Diagonals

18.a) P = 10cm, A = 4cm?, b)
19. 10.6cm




